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INTRODUCTION

Hello Parents!

Included in this packet is a week's worth of printed ELA and Mathematics work for

your students while they are at home. Each day is separated into the 2 content areas for
the printed material. If you have access to the digital curriculum, a pacing guide is also
provided outlining the digital component assigned for each specific day. If you need
technology, please contact the school and we can make it available to you. Also
remember, USATestPrep is always an option!

We know some of this material maybe be challenging, but try your best to complete it!
Hopefully we will see you back in the classroom soon and will be able to go over all the
information.

Printed materials may be turned into to the distribution centers once completed, but it is
not a requirement.

Mrs. Will will be available on Youtube Live every day from 10AM-11AM to assist with
curriculum questions and/or any resource questions for parents or students.

Stay safe and healthy everyone!

Missing seeing everyone’s smiling face! Remember to wash your hands!

Educationally Yours ,
Mrs. Veronica Will
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HELPFUL INFORMATION

Distribution Sites/Information

Food/Curriculum distribution will take place at:

Erie Rise Leadership Academy Charter School
1006 West 10% Street
Erie, PA 16502

Leadership Team

Mr. Terry Lang, CEO: 814 812-0503

Mrs. Veronica Will, Principal: 814 873-5158
Mr. Aubrey Favors, HR: 814 812-3026

Mr. Kirk Paskell, Transportation: 814 566-0002
Mr. Homer Smith, PR: 814 392-3413

Mrs. Pearl Jeffries, Social Services: 814 722-5056

Parent Lesson Plan
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DIGITAL LESSON PACING GUIDE

ConnectED Instructions

Please see attached instructions for accessing the digital curriculum.

USATestPrep Instructions

Please see attached instructions for accessing this test-prep site.

If you have access to high speed internet, below are the assignments the teachers have assigned for the
various content areas:

USA Test Prep Week 1 Assignments:

Math Assignments: Math 3/23, Math 3/24, Math 3/25, Math 3/26, Math 3/27
ELA Assignments: ELA 3/23, ELA 3/24, ELA 3/25, ELA 3/26, ELA 3/27
Science Assignments: Science 3/23, Science 3/24, Science 3/25, Science 3/26, Science 3/27

Pacing Guide for Online Curriculum

Monday Tuesday Wednesday | Thursday Friday
ELA/Writing | Lesson: Lesson: Lesson: Lesson: Lesson:
Unit 4 Unit 4 Unit 4 Unit 4 Unit 4
Lesson 4 Lesson 4 Lesson 4 Lesson 4 Lesson 4
Day 1 Day 2 Day 3 Day 4 Day 5
Assignment: | Assignment: | Assignment: | Assignment: | Assignment:
Unit 4 Unit 4 Unit 4 Unit 4 Unit 4
Lesson 4 Lesson 4 Lesson 4 Lesson 4 Lesson 4
Day 1 Day 2 Day 3 Day 4 Day 5
Math Lesson: Lesson: Lesson: Lesson: Lesson:
Chapter 7 Chapter 7 Chapter 7 Chapter 7 Chapter 7
Lesson 3 Lesson 4 Check My Lesson 5 Lesson 6
Assignment: | Assignment: | Progress Assignment: | Assignment:
Chapter 7 Chapter 7 Assignment: | Chapter7 Chapter 7
Lesson 3 Lesson 4 Chapter 7 Lesson 5 Lesson 6
Check My
Progress

Parent Lesson Plan
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ELA PRINT MATERIAL

Day 1-

Complete 1-2 Worksheets a day
Day 2-

Complete 1-2 Worksheets a day
Day 3-

Complete 1-2 Worksheets a day
Day 4-

Complete 1-2 Worksheets a day
Day 5-

Complete 1-2 Worksheets a day

MATH PRINT MATERIALS

Chapter 7 Reteach Lessons
Follow through packet to complete the Lesson and Homework Assignments,
e Complete one/two Lessons a Day.

Parent Lesson Plan Page 5




ADDITIONAL RESOURCES (EDUCATIONAL)

Included are a list of hand selected resources for students with internet to use at home.

Virtual Fieldtrips

https://docs.google.com/document/d/1SvIdgTx9diKOBS|yvPDsoGlkgE3IExmi3gh2KRRku w/mo
bilebasic

VOOKS- storybooks brought to life

XtraMath- basic math facts
https://xtramath.org/#/home/index

GoNoodle
https://www.gonoodle.com/

ABCYa
https://www.abcya.com/grades/3

Studylams
http://studyjams.scholastic.com/studyjams/

Parent Lesson Plan Page 6
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Patterns follow a rule. Each number in a numaric
pattern is called a term. The ordered arrangemant of
terms that maks up a patiern is called a seguence.

Crystal starts reading her book on Monday.
She reads 25 pages on the firsi day. Each
day, she reads 25 pages. How many (otal
pages will she have read by Tuesday,
Wednesday, Thursday, and Friday?

Thea first tarm of ihe sequence is 25.

The rule is add 25.

Extend the pattern.

e G [ PN
w8Y 1 WY €
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mionoay TUesdsy

25

So, Crystal will have r2ad
by Wadnasday,

by Friday.

Online Content at
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ESSENTIAL QUESTION
How ara paiierns usad
in mathematics?

Day &
Friday




The first term of a sequence is 85. The rule of the sequencs
is subtract 4. Find the naxi four terms in the sequenca.
Then make obsarvalions aboui the patiern.

Terms: Term 1 Term 2 Term 3 Term 4 Term b

Segoencs: 65

The next four terms in the sequence are ; ; ,and
Circle whether the terms are all odd or even. odd aven
Circle whether the terms increase or decrease. increase decrease

Extend the pattern to a total of 10 terms.
651 ? b H i) ) L ) bl

Miake another observation about the pattern.

The ones digits repeat the pattern 5, 1, , , and

Extend each pattern by four tarms. Write an Y A

ohsarveticn about the paiterm.

How does the operation of
4. Rule:add 7

a rule affect the terms of a

Pattern: 8, . : ' sequence?

Observation:

. Rule: subtract 10

i

Pattern: 90, g ; ;

Observation:

R 1
-

Crapizr 7 Patterns and Sequences

w10 McGraw-Hill Education



Copyright @ McGraw- Hill Education

Mama

Zxiend each paiiern bv four iarmsz. Writ

.
obsarvailon apoiut in2 nabigrn

:a
L

Rule: add 9
Pattern: 7,

Observation:

(9]

Rule: subtract 9
Patiern: 87,

Observation:

Rule: multiply by 3
Pattern: 2,

Observation:

2 Rule: divide by 2
Pattern: 64,

Observation:

Rule: add 12
Pattern: 2,

Observation:

Rule: subtract 5
Pattern: 85,

Observation:

- Rule: multiply by 4

Pattern: 5, .

Observation:

. Rule: divide by 5

Pattern: 625,

Observation:

Refer to the sequence 1, 15, 21, 26, 31, 36. Explain why the
terms in the sequence will continue to alternate betwaen even

and odd numbers.

330, Sequences



12. Each pumpkin costs $8. Jaime has already bought $24 worth of
pumpkins. Suppose he buys five more pumpkins. How much will he

spend in all after he buys each pumpkin? Write a sequence.

« !.‘i

v 28

0

‘ [I> Dveaw a Conciusion The rule of a pattern is multiply
by 3. The first term is 7. What are the next five terms in the
sequence?

Write two observations you can make about the pattern.

'-‘;"ij :}-._;";':,‘-' - Jse Number Sense Write a sequence with at
least 5 terms that forms.a'pattern. Identify the rule.

Apply your rule to a new starting value to produce a new sequence.

[I> Reason The first term in a sequence is an odd
number. The rule is to multiply by 2. Are the rest of the terms in the
sequence even, odd, or both? Explain.

AL
D
s

2 How can | find patterns?

Chapua+7 Patterns and Sequences

© McGraw-Hill Education

aowright



Copyright © NMcGraw-Hill Education

Nama

NN @HOMEW oGk

Mead heip?

Xiend the patiern describad belovs by four t2rms.
‘ w0 Observations aboul the patterr
Use repeated subtraction to axiand tha oaitarmn.

25

w
(5}
(O8]

Sirst Tarm: 4G £

Rula: Subiract 7 39 )

|
~l O
|
~J
N I
O1 |~
I
o |

18

So, the sequence is 46, 39, 32, 25, and 18.
Thea terms in the sequence decrease. The terms in the
saquence also alternate betwaen aven and odd numbers,

b i L i by Cesviin bmnmare . A ute s TN Ty i1k b
ZRENd gacn oatiery By Vour LErmis. Wil ar observalion about U

" Rule:acdd 8
Pattern: 5,
Observation:
Rule: multiply by 2
Pattern: 3,
Observation:
Rule: subtract 20
Pattern: 175,

Qbservation:

4,0A.5

LET)

()

= My Homewark



4, Extend the pattern below by four terms. Write an observation about
the pattern.

Rule: multiply by 10

Pattern: 26, ; ) ;

Mathemalical

5. PRACTICE Look for a Patiern Brad puts an equal amount of
money in his savings account once a month. He started with $25.
The next month, he had $35 in his account. Two months after that,
he had $55 in his account. How much money will Brad have in his
account after 6 months? Describe a rule. Then solve.

&. On Monday, a toy store sold 4 race cars. On Tuesday, it sold 8 race
cars. On Wednesday, it sold 16 race cars. Suppose this pattern
continues. How many more race cars will be sold on Friday than on
Thursday? Describe a rule. Then solve.

Wyite a vocabulary word io compleiz 2ach senience.
sequence term

7. Each number in a numeric pattern is a

8. A is the ordered arrangement of terms that make up
a pattern.

8. Testi Fraciice ldentify the next term in the sequence. 171, 141, 151,
121, 131,

@ 161 ® 141 © 121 ® 101

.n
G
o
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ESSENTIAL QUESTION £

sjovs are paitarns usad

STRATEGY: Look for a Pattern it machamaeiiest

Danialis training for & walk-z-thon. in the first weeak, he walken
2 totai of five miies. In the second wealk, ne walked & ioial of 7

O

niles. in tha third weaek, he walked & total of ¢ miles. Ba

380 or
Ris patiasn, how many miles will he walk in the fourih weaek?
Daniel walked miles the first week, miles the second
week, and miles the third week.
the number of miles Daniel will walk the week
I will look for a pattern to solve the problem.
The sequence of the patternis: 5, 7, 9.
The rule to the pattern is
Based on the rule, the next term in the sequence is
So, Daniel will walk miles during the fourth weaek.

Online Content at




Taryn made 15 hair ribbons on Monday, 21 hair ribbons on
Tuesday, and 27 hair ribbons on Wednesday. Based on har
pattern, now many hair ribbons will she make on Thursday?

432 Crapuery Patterns and Sequences
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Narmea

Zolve each problem by looking for & patiarn.

4 ractice D LooK ior & Patiern A store

sold 48 model airplanes in August, 58 modse|
airplaneas in September, and 63 model airplanas o,
in October. Suppose this pattern continues. How many

model airplanas wili b2 sold in Decembar?

2. The table shows how many tickets weare sold for the school play

each day.
iMonday 312
Tuesday 316
Wednesday 320
Thursday 324

Based on the pattarn, how many tickets will b2 sold on Saturday?

There are 80 picnic tables at the park. During the first weakend of
the summer, there were 40 available tables. During the second
weekend, there were 20 available tables. During the third waekend,
there weara 10 available tables. Basad on the pattarn, how many
picnic tables will be available during the fourth waekend of the
summer? Explain.

)
G
Ca

2u ¢ Problem-Solving invastigation



s

i

(423

Use any strategy ©

solve each probiem.

Check for
reasonableness.

’ > Make a table.
Use Symbols A theater can hold

> Make a model.
200 people. Two groups rented out the theater.

The first group has 92 people and the other has
107 people. Are there enough seats for everyone?
Use symbols to explain.

Look for a pattern.

Z. In one hour, Frank earns the money shown below. How much does

he earn in 7 weeks if he works 3 hours each week?

VRS -7 LT L b s s
L THE PXTFUB S PARL S 01 b

. What is the next number in the pattern 2, 5,11, 23, 7

1. Katie sold 153 purses at a craft fair. How much money did she earn if

each purse cost the amount shown below?

s

&
/ ¥

85,

Chezeac7 Patterns and Sequences
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Naed help?

2 DY looking for

L, customars racalva

Customers get a $3 coupon for every $20 they spend.

I need to find how many dollars in coupons a customer gets for
spending $80.

I will find a pattern to solve the problem.

The sequence of the pattern of the coupons is $3, $5, and $9.
The rule for the pattern is +$3.
Based on the rule, the next term in the sequeance is $12.

So, customers receive a $12 coupon for spending $80.

$9 + $3 = $12, so the answer makas sensa,

2337 - My Homawork



Solve 2ach probizm bv looking for a pattern.
P Y g P

1. PRALTIGE E,> Plan Your Solution Angela opened a new bakery.
She got orders for 2 cakes the first week, 4 cakes the second week,
and 8 cakes the third week. If the pattern continues, how many cake
orders will Angela get the fourth week?

N

Manuel saw the following birds this week: 2 blue jays on Monday, 5
cardinals on Tuesday, 4 blue jays on Wednesday, 7 cardinals on
Thursday, and 6 blue jays on Friday. If the pattern continues, what is
the number and type of bird Manuel will see Saturday?

B

. The house numbers on the north side of Flynn Street are even.
In one block, the house numbers begin 1022, 1032, 1042, and 1052.
If Taylor is at 1022 Flynn Street, how many houses away is 10827

¢, Jessica is voting for dancers in a contest. She votes for the first
contestant 5 times, the second contestant 9 times, and the third
contestant 13 times. If she continues this pattern, how many total
votes will Jessica cast for the first four contestants? Explain.

i

. A towel has a repeating pattern of 2 green stripes, then 3 blue
stripes, and then 1 yallow stripe. If the towel has 20 stripes
altogether, how many green stripes are on it? Explain.

™
L
L))



Vocabulary Check

ldentify sacr pattern &% & nonnumeric patiern or s aumeric patterr.

P

A ’ /™
\ ‘r\ / \ )
S S U A S T

o’

3 98,88,78,868, 58 48 4.

L

Usz the patierr paigw for Exarcisas 5—

~f

2, 6,18, 54, 162

L

- Put acircle around one termiin the pattern,

(a3

Underline the seguencs,

Write the rule for this pattarn,

Y
sy

incept Check

“Xp

Extend the pattern. Draw the shapes on the linas,

Extend the pattarn, Write the rule,

3,8,13,18, 23, Tharuleis

o
iy

43, 48, 47,50, 51, 54, 55




iG. Extend the pattern below by four terms. Write an observation about

the pattern.
Rule: subtract 6

Pattern: 76, , ; ,

Observation:

d Fridays, Luke packs his junch. On

1, On Mondays, Wednesdays, an
meric

Tuesdays and Thursdays, Luke buys his lunch. Draw a nonnu
pattern to show the pattern of Luke's lunch for two weeks.

472, Bob swims 10 laps on even numbered dates. He swims 15 laps on
odd numbered dates. How many laps has he completed by the sixth
of the month? Describe a pattem to solve the problem.

172 Teat Praciice A nonnumeric pattern is shown below.

o Ju. A
L OO O
Which shows the next three objects in the pattern?

® 04 o0
OO @ OO

Chanar7 Patterns and Sequences
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Fove £r2 pailarms usad
i1 mathemaiics?

You can use a rule to write an equation that describes a pattern
petween input and outlzul numbars. Tables can b2 usad to show how

input numbers change in the same way 2ach time, creating a new
output nurnoer.

b tdachis is creaung 3 1202 10 §nadw no
e
AUl nuUMibhers 208 chanoed g B7 E0UBUS
=
2L dE3CriDES NS oELLS g 3z Compigis
nz imie

Pattern: 2+ =9

4+ = ¥ 2 9

i

o

4
Il

w
IS

Rule: Add . e 13

Equation: X+ =y

So, the equation that describes the patiern is

Copyright e Mo aw-Hill Education
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2 pizza shop offers $3 off any orcer ovar $10.
U i il I g fion | 1 ne nexi
t.se ihg i‘e a 1d‘ quation te find the next $11 $8
four ouipui aumbers.
$12
Rule: Subtract 3.
14
Equation: c—%3=d 3
: $16
$18
Find the next four numbers when the input ¢
is $12, $14, $16, and $18.
-$3=d ~%3=4d —$3=d -$3=d
-$3=% —$3=% —-3$3=3% -%$3=%

So, the next four amounts are

Describe another pattern you see in this chart.

.. Write an equation that describes the pattern.
Then use the equation to find the next three output numbers.

[nput (@) 5 g 13117 21| 25

Output (b | 9 131 47 Explain what you should do if

you test a number in an
equation and it does not work.

&3

Chzpeer7 Addition and Patterns and Sequences

ation

Copyright © McGraw-Hill Educ



Mlama

VAT

Tl

Fpt

it2 an squation hat dascri

25 e patizin
to fing the next nwve outpul numibears
Input Gm) | 11 16| 21| 26| 31
Output (M| 2 7 112
Equation:
ne rule to find the next four ocutpul numb

Copyright © McGraw-Hill Education

Rule:f4-3=h

Input {f)

Output (M

3

6

-
8]

=i

oa

%

Rule:v—Ill=w

juaiion
Inpui (s) 2 5 | 10| 14118
Outpui (A { i | 19 | 23
Equation:
’3
Rule: g —5 =h

Input (v

Output {w?

5

iJ
e

D
[ale}

w

arn you sea in Zxarcisa 2.

camsd el

Input (g}

Output (R

9

[

()

w
[

T Addition and Subtraction Pulas




“he table shows what a t2:i company chaiges
in doliars ¢ for evary r1 miles iravaled.

10. &FTAGHICE [> Use algebra Use the table to write an
equation for this situation.

1. Find the costs of a 25-mile trip and a 30-mile trip.

i~

Use the equation you wrote for Exercise 10 to find
the cost of a 60-mile trip.

13. Adifferent taxi company uses the equation
¢ =m + $4 to determine their charges. Find the
cost of a 15-mile trip.

1. &Il ‘ [> rodel iviath Write a real-world problem that

Taxi Rates
Input (m) Output (¢)
10 $12
15 $17
20 $22
49
30

can be represented by the table. Include the solution to your problem.

Input (A) 1 2 3 4 5
Qutput (m) | $10 | $20 | $30

-u'}- {'

a pattern?

i 3
Lo

Lirnpsiar 7 Additionand Patterns and Sequences

How can | find the rule of

w-Hill Education
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......................... 4.0A.5

Need help?

bty R T e {4 T Lo Y

YTt an gouation that dascribes tne paiters 1 tne a2

= X - WL 1S R SRR -1+ ! &} PO I S ] - oy pm
Ngn LSS INE 24ualion 12 MNG (N2 NeXt {hras ouicy LMDErs

Inpui {d) {12 115 |18 | 21| 24| 27

Output ()| 19 | 22125

The rule is add 7. The letter d represents the input, and the
letter frepresents the output. So, the equation is

Use the equation to find the next three output numbers: 21+7=
24 +7 =
27+7=

So, the completed table looks like this:

Input{d) |12 |15 |18 | 21| 24| 27

Ouipui (A | 19 | 22 | 25

! - - - - - 2, - ~ -~ N - - ., = -, -
rivg &0 gquation that gascmbas 12 palier 20 USeS IRE SGLsY ’-
- - oy o - o e
ing the next thrae cuipilt numbers
Tivivk it f e = . Lo O rird LR
21".}){12 7)) Output () INQJUT S Juipur o

&
)
ka4
[}V]
~J
00
~J
~l
o

Loxs
I~
o5
(]
w
(€3]
o
(e)}
[s]

Equation: Equation:

320 0 My Homework



Wilte an squation thai describes the patiaen. Then use the
equation fo find the next three output numbers.

3.
Input ()

Ouiput ()

22

1%

26

2]

30

34

38

Equation:

4,
Input (2)

Ouiput ()

0

8

5

13

10

15

20

Equation:

Jeremy’s class is going on a field trip. The school will bring
all the students who are there that day plus 4 chaperones.

5. Write an equation for this situation. Explain how your
equation relates to the given information.

o

-'1 E> us2 Math Tools Complete the table
to show how many people will go if there are 25, 27, 29, 31,

or 33 students. Explain how you can check your answer,

Craw a iin2 to maich 2ach word o iis meaening.

fot
@]
=
e
©
C
—

Input (5) | Ouipui ()

a number before an operation is performed

a number that is the result of an operation

€. Test Fraciic2 Refer to the equation g — 6 = b. If a = 45, what is the value of b?

® 16

FaAl

® 39 S 5

©® 60

Copyright © McGraw Hill Education
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114

=iovr ars patie ns usad
in mathamaiies?

|
|
|
|
|
|
|

You can write a multiplication or division equation to
axtend a pattern.

b

2
zquation to describe iha patiern. Ther use the 2ouation

@

10, and 12 cars.

Complete the table. Then look for

the pattern that descrives a rule. Gars A :

Washed | Earned ($) !

Pattern: 2 M = 12 ]

Input (o) Outpui (B .

4 X = 24 2 12 |

6 X =36 4 24

6 36 !
Rule: Multiply by 3
Equation: a X =4 10
12

Find the next three output numbers when the input o is 8, 10, and 12.

X6=p X6=b X6=09

X 8= XB= X &= %
So, Charies will earn $ 3 ,and $

Copyright < McGraw-Hill Education Ed Bocl/UpparCul Iinages/Alaimy
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it costs $£4 for each box of crackars. The equation is shown Cost ($)

below. Use the zquation io comaleaiz the tablz.
Rule: Divide by 4.
Equation: g=4=h

Find the next five ocutput numbers when the
input g is 8, 12, 16, 20, and 24.

So, the next five output numbers are

Describe another pattern you see in this table.

1. Write an equation that describes the pattern.

Then use the equation to find the next three
output numbers.

Input () 2141681012

Ouiput () | 12 | 24 | 36

Equation:

Describe a pattern you see in this chart.

4. i
)

Chzniae7 Patterns and Sequencas

Total Boxes of
Crackers
Input (g0 | Oufput (M)
4 1
8
12
16
20
24
+~4=h +4=h
4= + 4=

How are a rule and an
equation alike? How are
they different?

Copyright © McGraw-Hill Education
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rame

Write an equaiion that dascribes thz patiern. Than uvse iha
2¢uation to find the nex: thres ouipul nurbars

P

mputam | 1] 3579/ Flmpr | 245802
iOufpm{n) S 118 | 25 Output (¢) | 14 | 28 | 42
Equation: Equation:
1 =

put ) | 4| 8121520 24) ° {Inpuf(e) 1020 |30|40|50] 50
Output (k) 2 [ tput(f) | 2 | 4 | &
ufpu 1 3 1 !Ouput 2 b6 _
Equation: Equation:

T lmput o | 16 |24 (32 40| 48 56 “wmputr | 201018 |64 2
Output () | 2 | 3 | 4 Output (v) | 24| 20 | 16
Equation: Equation:

renig an input/ovipul iable for 2ach soustion
 axb=0p 3. c+6=d

Describe a pattern you see in Exercise 5.

=

s7=3 " 3 Multiplication and Division Rulas /




Zari makes beazad neclklaces. The table shows tha numbar

of nlue beads and graen beac's 3ari usss.

E,> us2 algebra Write an equation that
describes the relationship between green beads and
blue beads.

Blue Beads

Green Beads

Input (/) Cutput (k)
3 1
9 3
15 B
21
27
33

i2. How many green beads does Sari need if she is using 36 blue beads?

-

o848
ARehlet]

. How many beads does Sari have in all if she has 30 green

beads? Explain.

(CESSES Input (m) Ouipui (m
ciges &/ Rz2ason Circle the operation
. ; g,
that can be used to write an equation for the 1 -
input/output table to the right. Explain. 2 4
3 6
addition subtraction multiplication division
fjj‘% How can an

input/output table help me solve a real-world problem?

Crenize 7 Patterns and Sequences
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Need halp?

Input (0 | 2 | < | 6| 811012
Output (m}| 5 | 12 | 18

The rule is multioly by 3. The Ietter k represants the input, and
the letter m represents tha output. So, the equation is

Use the equation to find the naxt three outpul numbers:

So, the completed table looks like this:

Input (2

I~

Ouipui {m)

18

seoribes
c -m
J AT E

R OE R
Ihout (o}

Ouiput (D)

»

1

14

2

Equation:

s

i
[
o

¥
(1]
(113
[ 3]

P N P

B0 Deloy
m o~ ) i asre
S VLIV NMUMDSrs.

Il

W w W

Input {5

99

24

59

54

39

Equation:

5 My Homewori



Write 8 equation that desciibes the patiarn. Than use thz equation ic
find the next three output numbeays,

% Input (x) | Output (» “ Input () | Output ()
$5 $40 50 10
$6 $48 45 9
$7 40
$8 35
$9 30
Equation: Equation:

Shawna found out there are 2 yelicw pancils for every hluza pencil.

Mathematical
5. PRACTICE Us2 Algebra Write an equation for this situation.
Explain your equation.

Input (s)

Outpui (p)

&. Complete the table to show how many yellow pencils there are

if there are 5, 7, 9, 11, or 13 blue pencils. How many of each type

of pencil does Shawna have if she has 55 pencils?

. Tesi Preciice Referto the equationa X 9 = b. If g = 3, what is
the value of b?

® 3 ® 12 © 18 ® 27

iy
s
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An expression is a combination of numbers,
variables, and at least one operation.

\When an expression has more than one operation, the
order of operations tells us which one to perform first,
so that everyone gets the same answer. Parantheses ()
are symbools which indicate how to group operations.

~OW 2¢2 paiiarns usad
ia maihamaiics?

$8

I g e T . S
RS Lanie Snows v VITTNOWIE DICH2LE CO8T
¥ - . {
Sl R R R T rmmr pm ot R om et e 1
10 WS WY 1L COEL IO Duy .5 80uiL LUCKa1s
s Adult
¢ & child tinkeis?

Child

$5

cost = 3 adult tickets + 5 child tickets
c=3x%8 + 5 x 355

c=% + 3

o= $

So, the total costis $

f:J ]‘lji:_‘i' 0 , {j pe}a‘l‘:ﬂ‘]s

Perform operations in parenthases.
.. multiply and divide in order from left to right.

<. Add and subtract in order from iaft to right.

Online Cantent at
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Remember, an expression is a combination of numbers, variables,

and at least one operation.

Fing the value of the sxpressicn 3 X (& 4 8).
3 X (44 6)
3 x

S0,3 X (4 +6) =

Find the value of the expression {7 — 3) = (2 + 2.

7~3] % (242

So,(7—3)+(2+2) =

Fing tha vaiue of 2ach 2uoression.

2 —1X%X 3=

2.5 —-4X2=

(I5—4)x 2=

(V3

#+52  LTrzosues7 Patterns and Sequences

Explain why Exercises 2
and 3 have different
answers even though the
numbers are the same.
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Mame

2 B+6)+(3x1)=

(13}

(2]

Tha unknown is

The unknown is

5y

LEy

thi

Vra

I0—1x5=

[0)}
X
o
I
L\;)
Il

X(8+86)=42

The unknown is

The unknown is

z22¢ .7 Order of Oparations



8. Each bag of dried apples has 5 servings. Each bag of dried apricots
has 3 servings. How many servings of dried fruit are in 6 bags of dried
apples and 2 bags of dried apricots?

w

Each book costs $4. How much does it cost to buy 3 books and one
magazine that costs $5?

20. xPraclices E> Usa Numbar Senss A sandwich costs $6 and a drink
costs $3. How much does it cost to buy 4 sandwiches and 4 drinks?

21, Pracice E> Kezp Trying Use each of the numbers 1, 2, 3, and
4 exactly once in the equation below to make the equation true.

( X )+ o+ )=10

i)
i)

aciif E> iake a Plan Find possible unknown values to make
the equation true. ( X Yoo +2)=15

Explain why there is more than one possible answer.

Write a problem that shows
hy knowing the order of operations is important.

&)
e B
.

45+ Chapuar 7 Patterns and Sequences
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Zing tha velue of each aupression.

3, B+N+27+9= 4. 5X5—-8=

5. (4+20)+2+6= 5. 2X9+14+2=

7. PRALTIL \—> Model Math Tami buys two books that cost $14
each. She pays an additional $2 in tax. How much did Tami pay
altogether?

2. Claudio had 34 toy cars. He lost two at the park. Then he divided
the rest of the cars evenly among himself and 3 cousins. Write an
expression to represent the situation. How many cars did each
child get?

. Last week, Jean did two sit-ups on Monday and three sit-ups on
Wednesday. This week, Jean did three times as many sit-ups as last
week. Jean used the expression 2 + 3 X 3 to find the number of
sit-ups she did this week. Explain and correct her error.

(L

“asi Fracides Which expression has a value of 207

i

® 2x5+5 © 3x7—1
® 3x(5+5) ® 40+5-3

WUt
(&}
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Vocabulary Check

Use the words in the word bank {o complete gach senience.

eguailon input
output L oA

1. In the equation 4 + x = 7, the variable x is a(n)

opzraiicn

% In the table to the right, the letter m
m+5=n
represents the . Tha letter n
m n
represents the 5 5
3 Aln) is a sentence 3 8

that contains an equals sign (=), showing that two
expressions are equal.

<. Addition is an example of a(n)

Yrile an equalion thal dascribes e paigrm

f
in2 eguation o find the nexi three ouinui numsas

T olmpuite | 2 | 5| 6] 7] 8|09
Equation:
Outpui ()| 9 10 ik
E Input {c) (5] 8 0] 121 14| 16
Equation:
Ouipui ()| 12 | 16 | 20




Find tha valu2 of each axpression.

7. {7+ B)y+=3= B.N-2x5=
. The amount in dollars ¢ a bus company SHidEnte Cost ($)

charges to take s students on a field trip are
shown at the right. Write an equation to 10 60
describe the pattern. Then complete the 20 70
table to show how much it would cost for 30 80
40 and 50 students to go on a field trip. 40

50

10.

i

[o¥]

A local sports team sells 6 tickets for $42, 8 tickets for $56, and
10 tickets for $70. Write a rule and equation to find the cost of

20 tickets.

1. Each peanut butter snack costs $2. Each chocolate snack costs

$1 more than each peanut butter snack. How much does it cost
to buy 6 peanut butter snacks and 8 chocolate snacks? Write an

equation.

“zst ®racidce What is the value of m in the equation

to the right if n = 67
@ 15 © 54
27 ® g

Chnpons 7 Patterns and Sequences

Sxn=m
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ESSENTIAL QUESTION |

oW BYD ERUEITS uidh

in mathamadzst

Modei theg equationn X 2)+- 5=
Use paper plates to reprasent the variables,
rubbar bands for parenthasas, paper clips
for the equals sign, and inde:< cards 10 show
tha numbers and operations.

Suppose n equals 1. Place i counter on the
plate labeled n. move the counters through
the machine, following the operations given.
Use the order of operations.

i fﬂ = )
e %3 || +5 o

Digital Light Souive, e

Fold a piece of paper in half and label it as shown.

Copyright o McGraw-Hill Cducation

So,whenn=1y=

Opline Content at - szzar & 455




Input moce values for the equation {n X 3) 4- 5 = y. Find naw input
and ouiputl valusas.

Suppose n equals 2. Find the value of y.

So,whenn=2,y=

Repeat the process for input values of 3, 4, and 5.

Record your input (n) and output (y) values. 3

t> Us2 Algebra Refer to the equation
(n X 3) + 5 = y. What is the value of y when n equals 6? 7?

Z. Given the equation (n + 7) X 3 = y, how would you
find the value of y if n equals 3?

480 Chanuar7 Patterns and Sequences
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Mame

Use each aquation {o find eacih unknown. Use models if nzadad,

U3

=4

(Lo

t+8)X2=s

Whent=4,5=

B+{zX2)=w

Whenz=5 w=

N —(exd)=f

Whene=2,f=

Wheng =12, =

4 (mx6)+4=d

Whanm=3,d=

(a+86)+5=b

-~

Whena =180 =

.(r+8x6=s

Whenr=3,s =

64+ (p+4) =g

Whenp=4,g=

.133527 & Hand-On: Equations with Two Oparations



g
il

Set up an equation machine to show (x + 4) + 3 =y,
Find the values of y when x = 8, x = 11, and x = 20.

Whenx =8,y =
Whenx =11,y =
When x =20,y =

- Eind the Eevor Ropert is finding the output values
for the equation @ + 7 X 3 = h. He wrote a few statements about the
input and output values.

\Whana=3,b =30
Whena=4b =33,
LW‘nen a=25b=235.

What is Robert’s mistake?

Use the equation correctly to find the output values.

Whena=3b =
Whena=4b=
L\A/henazibz

Rewrite the equation so that Robert’s values are correct.

2 How do parentheses affect the value of expressions?

(5}
'S
F |

Peciacy Patterns and Sequences
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Mame

hE
o
E
ol

e
e = e !
Lesson o

MY o

EWIO

Meed nealp?

Us2 the equatdon {t X 3} 4 5 = w o fingd wwhan 1= 4
tX3)+5=w

(4 X3)+5=w

124+5=w

17 =W | 3=

Whent =4, w =17,

The counters at the right
model this equation.

IEm m e = PR I e R L e T -
LSS S84 SLUSTUGH i N Enon uaKng S OOg s
N S

S diEd

Whenz=72,y= . Whang =3, m=

s03n0 1 My Homawork



Use each equation o finc each unknown. Draw mcdais
if neadad.

3

3.6+ {@x3)=>b

L2+ (nX7N=p 4, (rx2y+6=v

Whenn=1p= ; Whenr=4,v=

(4))]

T4 +8=k

Whena=5b= . Whenj =16,k =

7. Set up an equation machine to show (x + 2) X 5 =y.

i

o1
“

Find the values of y when x =5, x = 8, and x = 12.
Whenx=5,y=
Whenx =8,y =
Whenx =12,y =

- [> Jndarstand Svmbols Bryan made up a game.
Each team starts with seven points. Each time a team answers a
question correctly, they earn five points. The equation used to find
the total number of points is 7 + {5 X @) = t. Find the total number
of points (t) when a team answers six quastions (q) correctly.

1cation

Covvriuht © McGraw-Hill Fdu



Mame

i ) x '-
FHow are patieras usad i

in mathematics?

You have used tables to show equations with one
operation. A table can also help you show equations
with two operations.

pi
]
n
T
]
)
b |
(R
2y
o)
-
m
g
[
i)
N e
3
=
o
@
w
o
=
]
¥,
[#]
(1]
45
2]
i
]
X
[
7

and rakes the lawn 1, 2, and 3 times.

(7Xt)+5=m

E Sam’s Money
< s
3 inpuf (1) ZxN4+5=m |Ouiput (m)
: So, during ona week, if Sam rakes the lawn 7X)+5=1 12
2 once, he will earn $ .1f he rakes 7X )+5=19
2 the lawn twice, he will earn $ 7X )+5=
Z If he rakes the lawn threa times,
he will earn $
Online Contant at : 3
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Equations can have multiple operations.

—

~ duy

Complaie the table to find ouiput numbeys whan
i@l Muf—
Falpdull Him

Solve what is between
the parentheses first.

FInd the value of y when x = 2.
2X9-2)4+3=y

2 X 7 +3=y

3,4

, anct

2X(9—x)+3=y

Input (<)

Output ()

18

14 +3=y

17 =y

Repeat the process when x = 3, 4, and 5.

Explain how tables can

Whenx =3,y =
Whenx =4,y =
Whenx =5,y =

Describe patterns you see in the table.

1. Complete the table.

¥R
£y
[} ]

Chapea-7 Patterns and Sequences

help you solve a problem.
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Mamea

Contplete each izble

[N

(7 = %)

b4

7 —

Input ()

Ouiput ()

42

Ux )—3=

Input ()

Output (1)

1
1

12+

ald
e )

Input ()

Output ()

17

A

fnout (1)

Ouiput ()

Input ()

Ouiput ¢ )

13

ik

P=x42=

Input (1)

Ouiput (1)

10

Input ()

Quinut ()

6

input (1)

Ouioui ()

¢

-:33c7 L Equations with Multiple Oparations

£



10. rractice t> Use ivath Tools It costs $3 to park at ($6xx)+53=y

the fair. Tickets cost $6 each. How much will it cost a family Input () | Output (y)
of 4 to go to the fair? Complete the table to solve. 1 $9

)

3

4

“%. Tam walks 2 miles each way to school each day. During gym class,
she always runs three times as far as Dante. How many miles will

Tam walk and run in one 5-day school week if Dante runs 1 mile
each day?

I0—xx2=y

N

E> Fiad th2 Srvor Ashley completed the

Input (x) Qutput {p
table shown. Find and correct her mistake. Explain.

1 11
2 10
3 9

Write a situation that could be represented by the
values in the table.

13, ? Describe a real-world

situation that could use a table with two operations. Create a
table for the situation with 3 pairs of input/output values.

«38 Chspia7 Patterns and Sequences
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4.04.3, 4.0a.5

Lasson 9
MNead halp?
Lausen’s racipe calls for 2 iimes a5 many cues of fiour as suaar
: $ A . & e -~ 1y 1 - T o 2] - - T o o T
vavs acds cup ol oatmeal, (fsha uses 2, 3, or 4 cuns o' 3uyas

notw many cuns of flour ane satmeal mixowill she usa?

Y
P

@XxXsit+l=t

Input () | Output (1)

N
X
4
I

(S
X
+
I

]
K
el
I

If sha uses 2 cups of sugar, she will use 5 cups of flour and oatmeal mix.
If she uses 3 cups of sugar, she will use 7 cups of flour and oatmeal mix.
it sha uses 4 cups of sugar, sha will use 9 cups of flour and catmeaal mix.

(157 WA ey
(3 Y X477 =

Complata the tabla. il et e

Inpuif (2 | Quiput ()

1 8

!
3

~J

W

2237 2 My Homework
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Coimpiete each table.

-
’

0

3. 4.
R+x0+3=y U4 Xb=y 0—-—xx7=y
Input () | Output () Input C& | Outpui () Input C | Outputi ()
1 15 1 30 1 63
2 ] 2 36 2 56
3 3 3
4 4 4
GXO+5=y > 6+oxa43=y | | ax@n-2=y
Input () | Quipul () Input (x) | Output () Input 0 | Outpui ()
1 10 1 17 1 46
2 15 2 19 2 22
3 3 3
4 4 4
\CTIC Make Sanse of Probleims Mauricio hits a baseball
4 times as often as Tony each game. He also hits 20 baseballs every
Monday at practice. Tony hits 4 balls at the game Saturday. Write and
solve the an equation to find the number of baseballs Mauricio hit
this week.
Callie loves flowers. She picks 4 tulips for every daisy she picks.
Callie’s mom also gave her 6 tulips this week from her garden. How
many flowers will Callie have this week if she picks 3 daisies? Explain.
Tast Practice Refer to the equation(x X 3) =2 =y. Ifx =7,
what is the value of y?
® y=27 ® y=23 © y=21 ® y=19




weitg the lstter of the definitior nexi o the corvact word
squstior & A statement that describes a relationship

betweean numbers or objects

2 input 2 A pattern that uses numbears

3 nonnumeric pattern O A sentence that contains an aquals sign (=),
showing that two e:jpressions are equal

4 numeric pattern o An amount that is not known

5 cperauos Z A mathematical procass such as addition,
subtraction, muitiplication, or division

& output = A collection of terms that show a paitern

fopatternn & Asequence showing a ralationsnip among
terms that are not numbers

g rule + Each number in a sequence

A The result of an input quantity being changad

by a function

o teew - Asequence of terms that follow a caniain

order

A quantity that is changed by a funciion
to produce an outpui

Copyright © McGraw-Hill Education




12. Extend the pattern. Diaw tha shape on the lina.

O ¢

Idantify, describe, and exiend each patiern.
13. 4, 20,100, 500, 4. 44,22, 20,10, 8,

The patternis The pattern is

Zxiand each patiern by four terms. Wriie an observation
about the patiern.

13, Rule:add 6 13, Rule: multiply by 2
Pattern: 3, , , ; Pattern: 4,
Observation: Observation:

W:ite an equation that describes the patiam. Than usa
ine equation to find the naxt two output numbars.

17 18,
Iput () | 25 | 35 | 45 | 55 | 65 Input (gd | 1 | 2
Output (0 | 21 | 31 | # Outpui (M | 3 6
Equation: Equation:

Find the valuez of 2ach axpression.

8. 7+3%X6= 20. (6-4)x 9 =

Find the unknown,
2. f+5B)x3=g 22. kX 4+ 7=y
Whenf=4,g = . Whenx =8,y =

472 Cnapiar7 Patterns and Sequences
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23. Kenneth displays his picture frames in the pattern shown below.
Every other picture is of his friends and the rest are of his family.
If the first picture is of his family, what picture will be in the third
square frame?

24. The admission for an art museum costs $5 per person. Complete the
table using the relationship between the number of people and the
cost of admission to the museum.

N

$15

$45

23. Mrs. Brown's class can earn 5 minuies of extra recess for each
marble she puts in a jar. The class has 15 minutes of recess each
morning. Make an input/output table to find how manv minutes of
recess they will get if they earn 3 marbles. Explain how the order of
operaiions is used to find the amount of recess time.

Fraziise Find the value of the expression (5 + 2) %
© 2
® 49

]

@ @
© E



Chapter 2

| Answering the
ESSENTIAL QUESTION

Use what you learnad about patierns to
complate the graphic organizear,

ESSENTIAL
QUESTION

How arg patterns
uged in mathematics?

‘*\\.
/ -4,\‘
“"-.‘
/ ™

Vocabulary Nonnumeric Numeric
Patterns Patterns

A

Reflect on the ESSENTIAL QUESTION @ wWriie vour answer below:,

474 Chzniar7 Patterns and Sequences
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Itlooked as if our class field day would have to be canceled
due fo the weather. We tried not to show our disappointment,
Mr. Wade knew that it was hard to keep our minds on the math :
lesson. We noticed that even he had been sneaking glances out
the window. All morming the classroom had been buzzing with
plans. Each team met to plan team strategies for winning the
events. Then, it happened! Clouds began to cover the sky, and _
soon the thunder and lightning confirmed what we were afraid of-
field day canceled. Mr. Wade explained that we could still keep
our same teams. We could put all of our plans into motion, but we.
would have to gef busy and come up with some inside games
and competitions, I guess the day would not be a total disaster!

Allison and Emma had to work quietly and quickly to get Mom'
birthday cake baked before she got home from work. Each of the
girls had certain jobs fo do—Aliison set it
the oven temperature and got the cake
pans prepared, while Emma got out all
the ingredients. As they stirred and
mixed, the two girls talked about the
surprise party Dad had planned for
Morn. Even Dad didn‘t know that the
girls were baking this special cake. The
cake was delicious. "It shows you what
teamwork can dol” said the girls in unison.










.+ Réad this word n sign language.




, -'You musT s’ran_ very foc:n walhfyouwcmf |
to hear your echo TR

'thn‘ hc:zppens when o sound wc:ve hl’rs c1 hard srnooTh surfcxc

. _' How fcnr GWG]Y mus’r you sfond from a woli nc you wan’r ’ro
. expenmen’r w;Th echoes’? '

Whiéh'werd_ in the story means to try ‘s_om_é_’rhing‘ as-afest?




harks spénd most of their fime
-nd_iookihg.for_ food, -

eafing




2. Asaboy, Cousteaulked fo swim andfo

3, Cousteau'sshipwas called -

4. "Cousteau’s undersea films won him







